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Note: Show all of your work clearly in the supplied answer sheet.

is a real 4x4 matrix. Find all possible real numbers of p for each

e. (10 pts.) “6” is one of A's eigenvalues.
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a. (10 pts.) The determinant of the matrix 4 is 1.

b. (10 pts.) The rank of the matrix A4 is 4.

c. (10 pts.) A4 is singular.

d. (10pts.) {{1000],[0100],[0010F,[0001]} is a basis for the column space
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a. (20 pts.) Use the augmented matrix [B|ls] to find the inverse matrix of B.

b. (30 pts.) Find a 4x4 matrix M such that CxB = BxM.






